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Congruent Figures
Practice and Problem Solving: D
Identify a sequence of transformations that will transform 
figure A into figure C. The first one is done for you.
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1.
What transformation is used to transform 
figure A to figure B?




2.
What transformation is used to transform 
figure B to figure C?


3.
What sequence of transformations is used to 
transform figure A to figure C? Express the 
transformations algebraically.

Complete each transformation. The first one 
is done for you.


4.
Transform figure A to figure B by rotating it 90( 
clockwise around the origin, so (x, y) ( (y x).

5.
Compare figure A with figure B. 
Are the two figures congruent? 
_________________ 

6.
Do figures A and B have the 
same or different orientation? 
_________________ 

7.
Transform figure B to figure C by translating 
it 8 units right, so (x, y) ( (x  8, y). 


8.
Compare figure B with figure C. 
Are the two figures congruent? 
_________________ 

9.
Do figures B and C have the 
same or different orientation? 
_________________ 

10.
Transform figure C to figure D by reflecting it over 
the x-axis so (x, y) ( (x, y).


11.
Compare figure C with figure D. Are the two figures congruent? 
_________________ 

12.
Do figures C and D have the same or different orientation?
_________________ 

13.
Compare figure A with figure D. Are the two figures congruent?
_________________ 

14.
Do figures A and D have the same or different orientation? 
_________________ 
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7.
yes


8.
different


9.
Sample answer: rotation 90 clockwise, translation 4 units left


10.
size: no; orientation: yes

Practice and Problem Solving: C


1.
Sample answer: (x, y) ( (x, y); (x, y) ( (x, y 4)


2.
Sample answer: (x, y) ( (y, x); (x, y) ( (x 2, y)


3.
yes


4.
square; Sample explanation: Each side of the square is a hypotenuse of congruent triangles. Each angle is supplemental to two angles with a sum of 90.


5.
Sample answer: (x, y) ( (y, x); (x, y) ( (x  4, y)


6.
Accept answers that meet the criteria. Sample transformation of A: (x, y) ( 
(x 5, y)

Practice and Problem Solving: D


1.
rotation 90 counterclockwise


2.
translation down 6 units


3.
(x, y) ( (y, x); (x, y) ( (x, y  6)



4.
7 and 10
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5.
yes


6.
different


8.
yes


9.
same


11.
yes


12.
different


13.
yes


14.
different

Reteach


1.
reflection over the y-axis; (x, y) ( 
(x, y); different

2.
90 rotation counterclockwise; (x, y) ( (y, x); different
Reading Strategies


1.
translation down 4 units

2.
y decreases by 4

3.
(x, y 4)

4.
yes

5.
180 rotation

6.
x and y both change signs.

7.
(x, y)

8.
yes

Success for English Learners


1.
translation; (x, y) ( (x  7, y  6)


2.
reflection; (x, y) ( (x, y)


3.
rotation; (x, y) ( (x, y)
lesson
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rotation 90( counterclockwise
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